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3. Factor fully, if possible. 5. Factor, if possible.
a) 15w + 25z S )33 3}
¢) 17ca — 8cd ot b) a(b + 1) + 9c(b + 1)
&) 12b% + 180  -dadm et bt

g) 7h + 3m — 5k  -WyBr—t42ni——em d) 4s(r + u) — H{r + u)

4. Factor fully, if possible. 6. Factor by grouping.

AHody——atex  b) 10K°m? — 6k*m? a) mx + my + 2x + 2y
SN E A d) 66ctde® — 22c%de? b) x* + 3x + 2x + 6
B3
efFeh——2mn—Ii3pe
d) 6x2 + 9x — 2x — 3
f) 5fg% — 25fg + 20f%g )
Q’MMH

B 2Zrlel = 180352 — 365g)

h) 4n?p® + 10mip? — 120°p2  3.90 Common Factoring
Solutions to ALL of these can be found in
Teams, Unit 1 - Quadratic Functions, Files,
1.30 Extra Questions

2. Find two integers with the given product 4. Factor, if possible.
d .
and sum a) 3% + 4y — 7
a) product = 45, sum = 14 2
b) product = 6, sum = —5 , L
) 8k2—6k—5
¢) product = —10, sum = 3
25—t

d) product = —20, sum = —8
e) 9x? — 15x — 4

2. Factor, if possible. 3. Factor, if possible.
a) 2x*+ 7x + 5 e 5. Factor.
b6t oy——t- b) 5n2 — 11n + 6 B2y
2 + 1 + 2
) 4k + 15k + 9 S —5el—Be——it- b) GH? 13mn 2?1
B3ttt d) 6a> — 7a + 1 G2 p—Hpe—+—5e-
2 eGP d) 6¢2 — 7cd — 10d?
e) 10w- + 15w + 3 .
f) 15k* — 19k + 6 a7

f) 6d% + de — 2¢?

3.50 Factoring trinomials when a # 1
Solutions to ALL of these can be found in
Teams, Unit 1 - Quadratic Functions, Files,
1.30 Extra Questions
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5. Factor, if possible.

a) a> — 3a — 10 b) s> + 3s — 10
¢ d2—8d—-9 d f2+7f—6
e) g —5g— 14 fy r2+2r—6
g) x2 + x — 42 h) b2 — 2b — 4

7. Factor completely by first removing the
greatest common factor (GCF).

Ae————0-
bE—aEd=56 3.40 Factoring

¢) 5z% + 40z + 60 . .
d) 45 — 85 — 32 Trinomials where a = 1

e) bx* + 10bx — 24b

f) x3 + 18x%2 + 72x

Solutions to ALL of these can be found in
Teams, Unit 1 - Quadratic Functions, Files,

1.30 Extra Questions

1. Factor. 6. Factor fully, if possible.
a1 b) y* — 100 a) 4x? + 28xy + 49y?
s d) 4a* — 121 B)OH—4lon+1om2
eFEm—iI f) 144p® -1 ) 25p% + 60pq + 144q>
S—16ni—2s h) 100g* — 81 d) 912 — 7x

2. Factor. )22 8 ahah03hL
TR byl —asdl 06— L
66— 465w i—iob> g) 25x2 + 70xy + 1477
&)—2bxl—3652 16— h) 100f2 — 120fg + 364
g) 162 — 8s? h) 75h2? — 27g%

3.60 Factoring PSTs and DoS

Solutions to ALL of these can be found in
Teams, Unit 1 - Quadratic Functions, Files,
1.30 Extra Questions
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